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L ha ha ha ha m m min min | m3/sec | m3/sec mm % m/sec m3/sec m m m
1L Hh (6.10) 22.5
. (6. 10) e e e ) ) 1800 % . . C=(6.1x0.7+0.2 X 0.9)/6.3
0. 20 3 20 139.2 139.2 0.8 | 23.3 | 0.153 | 0.964 U800 X 700 1.0 2. 7177 1. 042 [,
®-3
0. 10 38.0 38.0 0.7 7.7 0.280 | 0.028 U300 X 250 0.35 0. 879 0. 051 C=0.9
1.20 46010y 180. 5 319.7 1.2 | 24.5 | 0.157 (i) U900 X 800 0.6 2. 439 1.368 SRR A
. 7.60 : : . . . 1. 194 . . . =0.7395 mi#% A0.001m3/sec
1. 60 G 1o) 90.3 410.0 0.6 | 25.1 | 0.161 (o Ea1) U1000 X 800 0.6 2. 543 1. 588 SRR A
) 9.20 ’ ’ ’ o ) 1.482 ’ : : =0.7674
©®-4"
0. 10 170. 0 170. 0 1.9 8.9 0.271 | 0.027 U300 X 250 1.0 1.486 0. 087 C=0.9
0. 00 e a0y 5.0 175. 0 0.0 | 25.1 | 0.161 (- 490) U1200 X 800 0.35 2.077 1.564 SRR
i 9. 30 . i : . . 1. 498 . : . =0.7688
AT  2 JK  ~
1L Hh (20. 10) 33.8
L1 (2.70) 8.3
(2.70) _ C=(2.7%0.7+0.4x0.9) /3.1
0. 40 300. 0 300. 0 2.5 | 10.8 | 0.201 | 0.623 U800 X 600 0.5 1.964 0. 737 c
3. 10 =0.7258
(22.80) . 260 L 196 2. G —_ ) ; ) o C=(22.8x0.7+0.4% 0.9) /23.2
- 18.0 318.0 0.1 | 33.9 0.126 | 2.923 | U1500X 1000 0.6 3. 156 3.712 o
(02, GiD) 5.0 323.0 0.0 | 33.9 | 0.126 | 2.923 1000 2.2 4.528 3. 556 Eais ARSI
23. 20 2 : : : : : ¢ : g g =0.7034
R 27 2 5 K 3~

BARIE R + (VX 60) T 11/360X 4000/ (t+28) X C




